IMPORTANT MA DEGREE FEE INFORMATION

NOTE: The information below applies to students who began their MA program in January 2014 or earlier. For those who began in September 2014 or later, Degree Fees have changed - click here.

University of Toronto tuition fees policy stipulates that all MA degree students pay a **minimum** fee for their degree – referred to as the **Degree Fee**. This minimum fee is based on your year of admission and the number of courses required in your program and is calculated as follows:

- If you were admitted to a 6-8 half-course (1 year) program length, the minimum Degree Fee is calculated at 1 times the Fall/Winter, full-time academic fee for the academic year in which you began your MA degree program.
- If you were admitted to a 10 half-course (1.5 year) program length, the minimum Degree Fee is calculated at 1.5 times the Fall/Winter, full-time academic fee for the academic year in which you began your MA degree program.
- If you were admitted to a 12-16 half-course (2 year) program length, the minimum Degree Fee is calculated at 2 times the Fall/Winter, full-time academic fee for the academic year in which you began your MA degree program.

If, at the end of your program, the total amount of academic fees which you were charged during the time that you were registered is less than the minimum Degree Fee, you will be required to pay the outstanding balance. This is known as the **Balance Degree Fee**.

Note: The Fee Schedules below do not apply to students in the MA Child Study and Education program.

Below is the minimum Degree Fee which you are required to pay by the end of your MA degree program. Note that there is no maximum Degree Fee. **International student fees differ**. Please contact your Liaison Officer in the OISE Registrar's Office for information about international Degree Fees.

If you were admitted in 2013-14 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$7,160.00 (1 x \$7,160.00)		
10 half-course program	\$10,740.00 (1.5 x \$7,160.00)		
12-16 half-course program	\$14,320.00 (2 x \$7,160.00)		

If you were admitted in 2012-13 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$7,160.00 (1 x \$7,160.00)		
10 half-course program	\$10,740.00 (1.5 x \$7,160.00)		
12-16 half-course program	\$14,320.00 (2 x \$7,160.00)		

If you were admitted in 2011-12 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$6,885.00 (1 x \$6,885.00)		
10 half-course program	\$10,327.50 (1.5 x \$6,885.00)		
12-16 half-course program	\$13,770.00 (2 x \$6,885.00)		

If you were admitted in 2010-11 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$6,621.00 (1 x \$6,621.00)		
10 half-course program	\$9,931.50 (1.5 x \$6,621.00)		
12-16 half-course program	\$13,242.00 (2 x \$6,621.00)		

If you were admitted in 2009-10 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$6,366.00 (1 x \$6,366.00)		
10 half-course program	\$9,549.00 (1.5 x \$6,366.00)		
12-16 half-course program	\$12,732.00 (2 x \$6,366.00)		

If you were admitted in 2008-09 to a:	then your minimum Degree Fee will be:		
6 to 8 half-course program	\$6,121.00 (1 x \$6,121.00)		
10 half-course program	\$9,181.50 (1.5 x \$6,121.00)		
12-16 half-course program	\$12,242.00 (2 x \$6,121.00)		

MA Fee Schedules

Below are MA Fee Schedules for the last six years for your convenience in calculating the payments which you have made towards your Degree Fee. **International student fees** differ. Please contact your Liaison Officer in the OISE Registrar's Office for information about international Degree Fees.

NB: Incidental and Ancillary Fees are in addition to the academic fees and are not included in the calculation of the Degree Fee.

2014-15 Fee Schedule

	Academic Fee	(Incidental & Ancillary Fees)
2014 Summer Session Fees		
Full-time registration	\$ 1,067.25	(\$ 429.80)
Part-time registration	\$ 1,067.25	(\$ 169.39)
2014-2015 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 7,115.00	(\$ 1,310.96)
Full-time registration in one Session only	\$ 3,557.50	(\$ 680.48)
Part-time registration in Fall/Winter Sessions	\$ 2,134.50	(\$ 414.98)
Part-time registration in one Session only	\$ 1,067.25	(\$ 232.49)

2013-14 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2013 Summer Session Fees		
Full-time registration	\$ 1,074.00	(\$ 443.36)
Part-time registration	\$ 1,074.00	(\$ 172.00)
2013-2014 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 7,160.00	(\$ 1,300.28)
Full-time registration in one Session only	\$ 3,580.00	(\$ 675.14)
Part-time registration in Fall/Winter Sessions	\$ 2,148.00	(\$ 413.98)
Part-time registration in one Session only	\$ 1,074.00	(\$ 231.99)

2012-13 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2012 Summer Session Fees		
Full-time registration	\$ 1,074.00	(\$ 424.76)
Part-time registration	\$ 1,074.00	(\$ 163.45)
2012-2013 Fall/Winter Fees Full-time registration in Fall/Winter Sessions Full-time registration in one Session only	\$ 7,160.00 \$ 3,580.00	(\$ 1,241.52) (\$ 643.26)
Part-time registration in Fall/Winter Sessions Part-time registration in one Session only	\$ 2,148.00 \$ 1,074.00	(\$ 391.08) (\$ 218.04)

2011-12 Fee Schedule

Academic Fee	(Incidental	&Ancillary	Fees)
--------------	-------------	------------	-------

2011 Summer Session Fees Full-time registration Part-time registration	\$ 1,032.75 \$ 1,032.75	(\$ 379.39) (\$ 153.72)
2011-2012 Fall/Winter Fees Full-time registration in Fall/Winter Sessions Full-time registration in one Session only	\$ 6,885.00 \$ 3,442.50	(\$ 1,156.36) (\$ 600.68)
Part-time registration in Fall/Winter Sessions Part-time registration in one Session only	\$ 2,065.50 \$ 1,032.75	(\$ 368.16) (\$ 206.58)

2010-11 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2010 Summer Session Fees		
Full-time registration	\$ 993.15	(\$ 367.37)
Part-time registration	\$ 993.15	(\$ 150.68)
2010-2011 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 6,621.00	(\$ 1,117.18)
Full-time registration in one Session only	\$ 3,310.50	(\$ 581.09)
Part-time registration in Fall/Winter Sessions	\$ 1,986.30	(\$ 349.14)
Part-time registration in one Session only	\$ 993.15	(\$ 197.07)

2009-10 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2009 Summer Session Fees		
Full-time registration	\$ 954.90	(\$ 345.99)
Part-time registration	\$ 954.90	(\$ 138.22)
2009-2010 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 6,366.00	(\$ 1,073.74)
Full-time registration in one Session only	\$ 3,183.00	(\$ 554.02)
Part-time registration in Fall/Winter Sessions	\$ 1,909.80	(\$ 320.92)
Part-time registration in one Session only	\$ 954.90	(\$ 177.96)

2008-09 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2008 Summer Session Fees		
Full-time registration	\$ 918.15	(\$ 333.30)
Part-time registration	\$ 918.15	(\$ 138.09)
2008-2009 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 6,121.00	(\$ 1,034.12)
Full-time registration in one Session only	\$ 3,060.50	(\$ 534.56)
Part-time registration in Fall/Winter Sessions	\$ 1,836.30	(\$ 307.34)
Part-time registration in one Session only	\$ 918.15	(\$ 171.17)